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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.

Q.1 Answer any six out of Ten. (2 Marks Each)
1. Enlist Types of Structures.
Enlist Instruments used for chain and Tape survey.
List out the basic principle of surveying.
Draw neat sketch of 20m metric chain.
Explain uses of surveying
Enlist types of compasses.
Define WCB and RB.
Enlist Classification of surveying
9. What is Scale
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10. Enlist Classification of Buildings as per National Building Code Group A to I

Q.2 A) Explain in detail application of surveying.
OR
A) Write Difference between Plane surveying and Geodetic surveying

B) Enlist instruments used for chain and tape survey and explain any two instruments in detail.

OR
B) Define Ranging and explain any one types of ranging with neat sketch.
C) Convert the following WCB into RB.
1.152°  2.80° 3.210° 4.320°
OR
C) Convert the following RB into WCB.
1.N45°E 2.S80°W  3.S10°E 4.N32°W

D) The length of a survey line measured with 20m chain was to be 610m. If true length of line is

612.5m. Find true length of chain.
Q.3 A) Advantages of frame structure.

OR

A) Difference between frame & load-bearing structure

B) Define the following for compass survey.

1. Magnetic meridian 2. Back bearing 3. Whole circle bearing

OR

B) Explain difference between Closed Traverse and Open traverse.

C) Explain principal of surveying with neat sketch.
OR

C) Convert Fore bearing (FB) to back bearing (BB).

ILLN65E  2.825°W  3.N80°W 4.S15°E
D) Explain in detail temporary adjustment of prismatic compass.
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